— EFER . A 8 NS 4.3 40 o

W = & »:
BREFNTEE (—)
EB6E

(B &) . 120 2 %F 218 :150 &)

AN W A

TR, AH—TEM 6 A E R,

CHEL MR Eae=(—3.2,D), Pl o — D EE
u=1.2,—D, 0 [ 5o B0 BRI ( )
A [la B. [//a
C. [Ca [/)a F [ Ca
2025 xR FEHY] MM a=(—3,2,3),b=,x,—1)
H a//b 0 = (1A N ( )
A. 0 B
3
c. —2 D %
2 3
(2025 iz M P 5 AF ] WK, 7 = WH ABC-DEF W,G Mz
AD [y #5 % BA=a.BC=b,BD=c.l| CG= «C
F
D E
d.
A B
A. %a*b-’-%c B. %a—‘—b—‘—%c
C. %a*%b-!-%c D. %a—‘—%b—‘—%c

(2025 « iz thmM—F AX] BEMmE a=(1,1./2),b=(—3,2,0),

Wa—b fEa FHH Y ¢
3 3 3/2 5 5v2

A () B ()

. (3 332 2 3 42

¢ (3377 D (—555)

1EK ik ABCD-A,B,C,D, #,AB=1,AA,=2,AD=4, /i E 1%
BC ' H BC=4BE./55 G HAAB,C &L A G B 54k AE pyliE
=] ( )

V6 V3

B. V2 C. D. /3

6. [2025 -z BAhFFAE] WK .E =K ABC- A, C
AlBlcl ':F"M9N ﬁ%u%AlB’Blcl J:E/‘J;'u]_i’ﬁ

AM=2MB,B.N=2NC..#% AB=a,AC =b,

. C
AA,=c. % BAC=90°, /BAA,= CAA,=60",
AB=AC=AA,=1,0l]| MN = ( )
2 6
A. Y B. 3
3 V11
C. I D. ?

7. [2025 « sz 4 p 2 A BHE D IEAABC HiE W FEEN,O &
FHABCAMIFE — S HIEEE .y W2 OD:10A+2yOB—oc,

nu“”mmmﬁaﬁ ¢
5 9
A. ? B. ? C. 2 D. 4
S, (2025« s R — A %] 46D MM S-ABCD R 0 K Y

P W 5] BB /N L 2k BP 5 H 2 SC T AR5z Hh ( )

5 3 2 1
A. % B. % C. % D. 10
TGRSR AL 3N EANAR 6 .3 18 L BFEANA L H A%
RH AL HAFEAEEXR. 2HEANF 62 . BLrAANRH L,
AEEWE O 2.
9. KT ASE ), LT 3k R 2 ( )
A —D W a b LR M &N

. AR a=(1,0,1),b
1
2

—> —> 1
B. DM AB=(1.2,—2).AC=(—.0.1) & B #| 1% AC M
N2
C. AXF=s ] AT B — A5 Oﬁ()PZEOA—E()B+E()C,UllJP,A,

B,C Y g 3k
D. AHZLLW—AJrmmalm=(3,—
Fn=C—1,—2,1,0 [ //a
10. [2025 « ix i ¢ P F A ] 7 =M O -ABC #1,0A,0B.0C HH
T, H OA=0B=0C, W F 5 45 1F i 0 & ( )
A. (OA+0B+0C)* =3 0A*
B. BC + (CA—CO)=0

LD o By — 3k )

1 —> — —
C. =M O-ABC YRR E‘ (AB + AC) + BC|

D. (OA+OB)#1 CA iy 60°

11. [2025« iz e AP F AL ] WERL.EKRK N 1 K IE KK ABCD -
A,B,C,D, #1,E,F 43345 BC.CD F#3) 4. H CE=1CB,DF =
uDCAE (0,1) 4 € (0,1, 1] C
A. M A=pWf,.D,E | Fifi B,AF D, C,
B. Y4 x+p=18.BD// ¥V B EF A 5

1 ‘ . i
C. %A*nglﬁaz*ﬁ%ﬁ B,-AEF {&F 1) e K :
5 DFLEC
{Ej‘jg_z A B
1 41
D ,\i!I/l Azzﬁﬂ‘?A]E_'_AlFEgﬁ-i/J\ﬁﬂqg

SETE A 3N EFNAS 4.3 15 4

12. BanzsimE a=(6.2,1),b=(2,2,—3), % (a—b) | a,N| x=

13, s EARREP u(x—x) Tov(y—y,) twlz—z2,)=0FRE
ﬁ,kj—i(xoayo szo)7H‘J£‘m§ﬂ‘7(u7U31U)E(quﬁﬂ<]ﬁ%7mu)‘]—i P(lsl?g)
FFEH(r—1D—2(y+1D+2(z—2)=0 FE K

14. [2025 -z @ P8 ] i, 72 1E Ik AB- EA1 D,
CD-A,B,C,D, h,AD=4., 4 E.F 535155 A\ B, . BiF =~

g 1
BB, iy sl WP EFD, #80E 5 R B A3 #m i i g 5
% (H P Wi AD = 2AD - yAD + LA D
— B C
—_— 1 —
zAA, »HeryJFZz:?’m\'J%ﬂAP|E1%%/J\ﬁﬂﬂq|zﬁ A/ADD, 5
%E ADP J 4% 8N

RSB ABES NNEET7T L BANT W XF WA, A AR
A F R

15. (13 4)[2025 « iz g MG+ ] EMmEa=(—2,—1,2),b=

(_17172)702(15272).

(D#Fac=4,3k|b+c]l;
(DB =AM aboe—a—b RNEEM S BB — A FEIR, R «
I AEL.

sxERlEs (—) wiEz = 01



16. (15 %) WK, ¥ ¥ 475 mf& ABCD-A,B,C,D, #,AB = AD = 18. (17 4)[2025 « A AM P F A% | WK, ERE RN 1 BIET K AB- 19. (17 4)[2025 « iz Zx &L e A% ] WKL 7R HE P-ABCD W, JE

AA, =1, /BAD=090°, / BAA, = /DAA,=60". it [i] & AB =a . |i] CD-A,B,C,D, #.,E & DD, ¥4 5. F & BB, [ 5. i ABCD 23ihKHJ 4 (9IFE 5 IE . APAD 2iF =fIK.E.F.M,O 4
B AD=b.5 AA, =c. (DR FC, # %k AE WIEE & PC.PD.BC,AD Wy & . PO | S¥1i ABCD.
(OB B.C, Wy i M. avb ﬂé?@ﬂ?fﬂ%m, (2):REH% FC, 8¢ m AB,E WIEE. (D)RIUE.EF | PA.
s D, C, (2)3R i B 3|1 EFM FyiE .
(DR |AM]. A E 5 (el PA LR 148 25 N 8B 4 MN 5 EFM 5 58 9
DF X mﬂﬁﬁ%:z PR SR R B PN (K 25 A A LI
A¥

17. (15 4)[2025 « =B R —+F AF ] WK, H ABCD-A B,C,D,
RIRMHAEK R 2 WIEMER,O, B A C, 5 B D, IE&H.0 R AC
5 BD 585
(DIER] . C,0//Fifl AB, D, ;

2 o .
(2)# xi C, 3¢ | AB, D, E"JEET%%J%,*EIEIT@H ABCD -
A,B,C\D, 1y5;.
A D
b Ay \\\\ ¢
,,,,, Ty =Dy
B, YT

02 5 2835% sty HEESESE-H SJ



